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 تركي

 الأشكال المتشابهة
 

 

 
 هبسط !خطأ               هبسط       !خطأ                                  !خطأ=  !خطأ                                                       

 1=  !خطأهبسط                      !خطأ                                  !خطأ=  !خطأ                                                     

  شابهلا ي    لا يشابه                                                       يشابه                                                        

 

 

 

 
 !خطأ  = !خطأ                  !خطأ  = !خطأ                          !خطأ=  !خطأ                                                        

 3=  !خطأ                  !خطأ=   !خطأ                          !خطأ=  !خطأ                                                        

 لا يشابه                    يشابه                                  يشابه  لا                                                          

 

 

 

 
 !خطأ=  !خطأ                                                                       !خطأ=  !خطأ                          

 11س =  5                                                                     111س =  6                         

 م 4.2=  5÷  11سن                                                  س =  41=  6÷  111س =                       

 

 

 
 

 !خطأ=  !خطأ                                                                       !خطأ=  !خطأ                          

 12.1س =  1.4                                                                     141س =  41                         
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 تركي

 هلن 1.5=  1.4÷  12.1سن                                                  س =  5=  41÷  141س =                       

 

 

 

 
 !خطأ=   !خطأ          

 

 5.1س =  1.1         

 

 6=  1.1÷  5.1س =            

 

 م 6أي أن ارتفاع السارية =          
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